MASKIMA @

OOOOOOOOOOOOOOOOOOOOOOOO

GENEMAX 7000 IS
User Manual

SERIAL NUMBER M






INVERTER GENERATOR
Owner's Manual

GENEMAX 7000 IS

tor.

ad this manual carefully before operating this genera

Tips-re



GENEMAX 7000 IS

MAGKIMA



GENEMAX 7000 IS

Save this operating manual properly and carry it with the
generator for the convenience of emergency query in the
future. This manual constitutes one permanent element of the
generator. This manual shall be provided along with the
generator set when you lend or resell it.

Relevant information and technical specifications defined in
this manual take effect when printing is approved, with the
contents based on the equipment in production at time of
publication. Manufacturer reserves the rights to modify and
improve any parts described in the text without prior notice.

Original instruction



GENEMAX 7000 IS

Contents

L Foreward 07
2 Sefeylnformaton 08-13
3 Control Function
.............................................. 14_25
4 Pre-oparation
........................................................ 26-27
5 Operation
O ApplieationRange 33
[ Mantenance - mm
8 Accessories Installation 45
9 Tramsporting a7
10 Storage
........................................................... 48
T Troubleshooting 49
12 Parameters
........................................................... 50
13 Electrical Schematic Diagram

51-54



GENEMAX 7000 IS

Foreward

Inverter Generator Owner's Manual

Foreward

Thank you for purchasing a generator. We recommend that the operator
read this manual carefully before use this generator, and fully comprehend
all requirements and operating procedure concerning the generator. In case
of any questions about this manual, contact the recent authorized dealer for
startup, operation, maintenance program and so on. The technician will
teach you how to use the generator in a correct and safe manner. We also
recommend that the operator consult startup and operating procedure of
this generator when buying it.

This generator will work in a safe, effective and reliable way only when it is
kept, operated and maintained properly. Before operation or maintenance
of the generator, the operator should:

® Know well and strictly observe local laws and regulations.
® Read and observe all safety warnings in this manual and on the device.
® Let your family get familiar with all safety warnings in this manual.

It is impossible for manufacturers to predict all hazardous circumstances

that may occur, for this reason, warnings in this manual and caution signs
on the generator set may not cover all hazardous circumstances. If we do
not give extra cautions for operating procedures, methods or techniques,

operate the generator in such ways that helps guarantee personal safety,
make sure no damage to generator set arises there from.

To make sure safe operation,Please read carefully three vital safety
warnings in this manual and on the generator, preceded by a safety alert
symbol A\ including:

PIOYN\e]:8  You WILL be KILLED or SERIOUSLY HURT if you don't
follow instructions.

AWARNING You CAN be KILLED or SERIOUSLY HURT if you don't
follow instructions.

A\.CAUTION You CAN be HURT if you don't follow instructions.

NOTICE Your generator or other property could be damaged if you
don't follow instructions.




GENEMAX 7000 IS

Safety Information

Inverter Generator Owner's Manual

Safety Information

A DANGER

Do not use it indoors.

A DANGER

Keep the machine clean and
avoid spilt combustibles
including gasoline on it.

AWARNING

Do not use it in a wet condition.




GENEMAX 7000 IS

Safety Information

Inverter Generator Owner's Manual

AWARNING

Turn the generator “OFF"
when add fuel.

AWARNING

Don't add fuel near the
flammable thing or cigarette.

AWARNING

Keep children and pets away
from the area of operation.

Do not place flammable objects
close to the outlet valve when
generator operation.

Keep it at least 1m away from
inflammables.




GENEMAX 7000 IS

Safety Information

Inverter Generator Owner's Manual

AWARNING

Do not connect to a home
power system.

AWARNING

It must realize safe grounding.

NOTICE |: Use the ground wire

with enough electric
flux.

Ground wire diameter:0.12mm/A
EX:10A-1.2mm

>l AWARNING

The generator surface has high
temperature, avoid scalding.
Pay attention to the warnings
on the generating set.




GENEMAX 7000 IS

Safety Information
Inverter Generator Owner's Manual

Connection to a home power supply

If the generator is to be connected to a home power supply as a standby,
connection shall be performed by a professional electrician or by another
person with proficient electrical skill.

When the loads are connected to the generator, please carefully check
whether electrical connections are safe and reliable. Any improper
connection may cause damage to the generator, or cause a fire.

Others

Make sure Inverter ducted fan, muffler louver and the inverter bottom
side cooling well and without chips, mud and water come in. it may
damage the generator, inverter or alternator if the cooling vent blocked.
Do not mix the generator with other stuff if moving, storing or running the

unit, It may cause generator damage or bring property safety issue when
the inverter in leakage.



GENEMAX 7000 IS

Safety Information

Inverter Generator Owner's Manual

There is the warning label on the machine to remind you of the

safety regulations.

4y, DANGER

nnnnnnnnnnnnnnnn

AN 4

Some parts of equipment will generate high
temperature during operation, which will scald skin.

Read the safety instructions before using the
generator.

Gases such as carbon monoxide (colourless
and odourless gas) are produced during
operation which may lead to suffocation.
Only use the generatorin well-ventilated
areas.

MAGKIMA




GENEMAX 7000 IS

Safety Information

Inverter Generator Owner's Manual

Only fill the generator in well-ventilated areas
and keep itaway from open flames, sparks and
cigarettes. Spilled fuel should be soaked up
immediately.

Switch off the engine and let it cool down
before filling the generator. Fuel is easily
flammable and may even explode under
certain circumstances.

Wear ear protection when operating the
generator.

Disconnect all devices from the connections
before performing maintenance works,
before leaving the device and after
switching it off.

Warning! Dangerous voltages are present
when the generatoris in operation.
Generator must always be switched off
before performing maintenance works.

AWARNING ® A warning reminding the user that he shall conform to
regulations of electrical safety applicable to the place

where the generating sets are used.

® A warning on the requirements and the precautions to be
respected by the user in the case of re-supply by
generating sets of an installation, depending on existing
protective measures in this installation and applicable
regulations.



GENEMAX 7000 IS

Control Function
Inverter Generator Owner's Manual

Control Function
DESCRIPTION

1) Fuel tank

2) Fuel tank cap

3) Cover plate of oil level sensor

4) Frame components

5) Control panel

6) Folding handle

7) Battery maintenance cover

8) Frame shock absorber
bracket (right)

9) Panel bed

) Support wheel parts

Right maintenance door

Seal ring (fuel tank)

Tank hood (back)

Frame hood

Handle

Silencer spark collector

7) Carbon tank

18) Air filter

19) Frame shock absorber

bracket (left)

Left maintenance door

Spark plug

Combination switch

Tank hood (front)

(
(
(
(
(
(
(
(

)
0
1
2
3
4
5
6

—_— — ~— — ~— ~—

(
(
(
(
(
(
(
(
(
(
(

(20
(21

The YYMM is year

and month of (22

manufactured.

—_ ~— ~— ~—

(23

MAGKIMA



GENEMAX 7000 IS

Control Function

B

CONTROL PANEL
120V/240V

Inverter Generator Owner's Manual

1) Digital display meter
2) DC socket

(

(

(3) USB charging port
M @ @ @ © © ™ (
(

T
.
) (10)

~~~~~~~~~~~ E
\) (12) \

NONNRY

(1 9) (8)

4) DC protection

5) Parallel outlets (with parallel
unit)

(6) AC breaker

(7) AC breaker

(8) AC socket

(9) AC socket

(10) AC socket

(11) Grounding terminal
(

(

(

(

(14) (13 2) Esc throttle

3) 4in 1 Engine start
4) Engine start
5)

Voltage selector

120V/240V(Parallel socket with 50A)

(1) Digital display meter
(2) Voltage selector

(3) USB charging port
(4) AC breaker

(5) AC breaker

s (6) AC breaker

(7) Parallel outlets

(8) AC socket

(9) Grounding terminal
(10) AC socket

(11) AC socket

(12) Esc throttle

(13) 4 in 1 Engine start
(14) Engine start

(15) AC socket

i
|

(14) (13) (];) (11) (10)(9) (8)




GENEMAX 7000 IS

Control Function

100V/200V

Inverter Generator Owner's Manual

1) Digital display meter
2) DC socket

12) Grounding terminal
13) Esc throttle

14) 4 in 1 Engine start
15) Engine start

16) Voltage selector

230V

1) Digital display meter
2) DC socket

4) DC protection

(1)
(2)
(3) USB charging port
(4)
()

5) Parallel outlets (with parallel
nit)

6) AC breaker

7) AC breaker

8) AC socket

AC socket

) Esc throttle
)4 in 1 Engine start
)

)

)

)

)

0) Grounding terminal
1

2

3) Engine start

(
(
(
(9
(1
(1
(1
(1

MAGKIMA




GENEMAX 7000 IS

Control Function
Inverter Generator Owner's Manual

CONTROL FUNCTION

4 in 1 switch knob

This switch controls ignition system,
fuel system, power system, and
solenoid valve.

@ Off -- stop the engine: Ignition system
is in the closed state, fuel switch is off,
solenoid valve switch is off, and power
system switch is off; the engine can't
be started normally.

@ On -- start/run the engine: Ignition
system is in the working state, fuel
switch is on, solenoid valve switch is
on, and power system switch is on.
The engine can be started with one
key by hand, and the Blue tooth APP
can be started and run normally.

One-key start switch

When the combination switch is placed
in the “On” position, operate the start
switch button to start the engine.

o
&

Recoil starter

@

When the battery voltage is too low or
i power loss is serious, and the power
o fails to start normally, pull the recoil

I - starter to start the engine. .
I\




GENEMAX 7000 IS

Control Function
Inverter Generator Owner's Manual

@® “ON”
When the ESC switch is turned to
“ON”, the economy control unit
controls the engine speed according to
the connected load. The results are
better fuel consumption and less
noise.

® “OFF”
When the energy saving switch is
placed on the “Off” position, under the
condition of load less than 4.5kW, the
engine runs at the rated speed
(3,100r/min).

® “TURB”
When the energy saving switch is
placed on the position of “TURB?”, the
engine runs at the rated speed
(3,600r/min) regardless of whether the
load is connected or not.

Tip: When the following devices are

applied, such as air compressor and

submersible pump, ESC must be turned

off and the energy saving switch must be

placed on the position of “TURB”.

Digital display meter

1. When the combination switch is placed
on the “Off” position (when the engine is
not started):

Operate key 7, only the content of 19 is

A FAULT  OUTPUT
displayed on the screen interface (after
A each operation of key 7, the display will
(1) Multimeter disappear automatically after maintaining
(2) QR (;ode for Blgetooth Connectipn o 55)
EZ} 832:122’?53!555!?@ (é’ﬁ'é";?&'ﬁsh'?“' 2. When the engine is not started, but the
(7) Operating key combination switch is on the “On” position:

MAGKIMA



Bt

GENEMAX 7000 IS

Control Function

Inverter Generator Owner's Manual

Digital display meter

§ 910

T T T T
11 1213 14

(8) Operation identification(Normal operation)
(9) Bluetooth logo (10) Fuel quantity

(11) AC Voltage (12) AC Voltage

(13)AC Current (14) AC Current

FAULT  QuUTPUT

(19) Cumulative running time

a. No content is displayed on the screen
interface.

Notes: If the battery has been installed,
this interface indicates that the battery
voltage is less than 8V (the battery needs
to be charged), one-key start and Blue
tooth APP start cannot be carried out, but
the engine can be started by recoil starter.
If there is no display after replacing the
battery with new one, please contact the
designated dealer.

b. The screen interface displays the
contents of 21-22 and 23 (2 display
interfaces in total).

Notes: The interface with the display
contents of 21-22 indicates that the
battery voltage is more than 10V, one-key
start and Blue tooth APP start can be
carried out.

c. The screen interface displays the
contents of 24-26 and 23 (2 display
interfaces in total).

Notes: The interface with the display
content of 24-26 indicates that the battery
voltage is more than 8V but less than 10V,
one-key start and Blue tooth APP start
cannot be carried out, but the engine can
be started by recoil starter.

Prompt: The interface with the display
content of 23 can be used for connecting
the Mac address of Blue tooth device.
The display interface can be switched by
operation of key 7, and the contents are
displayed in turn.

When the above contents are displayed in
each display interface, the contents of 27,
9 (displayed with Blue tooth, not displayed
without Bluetooth) and 10 are also
displayed at the same time.



GENEMAX 7000 IS

Control Function

Inverter Generator Owner's Manual

If the unit does not have Blue tooth, the
screen interface does not display the
content of 23.

3. When the combination switch is placed

on the “On” position, and the engine starts

successfully and runs normally: the
screen interface displays the contents of

11-14, 15-17, 18, 19, 20, 21-22 and 23 (7

display interfaces in total).

Prompt: The interface content of 23 is

used for the Mac address of connecting

Blue tooth device.

The display interface can be switched by

operation of key 7, and the contents are

displayed in turn.

When the above contents are displayed in

each display interface, the contents of 8, 9

(displayed with Blue tooth, not displayed

without Blue tooth) and 10 are also

27, Battory normal displayed at the same time.

(22) Battery ( Voltage greater than 10V ) If the unit does not have Bluetooth, the

screen interface does not display the

content of 23.

e 4. When engine runs with failure: the

e screen interface displays the contents of
xx/xxxxxxxxxx 29'30, and the content of 30 represents
the fault information as follows:

U> a: AC over voltage, indicating the
character of AC (alternative
indication of AC and digit)

b: DC over voltage, indicating the

p character of DC (alternative

indication of DC and digit)

SEEE =] U< a: AC under-voltage, indicating the

¢ XXX Y character of AC (alternative
/2 / indication of AC and digit)
| o oo b: DC under-voltage, indicating the

FAULT  ouTPUT

i / character of DC (alternative
2/5 35 o indication of DC and digit)

I> Output over current of generator.
(24) Operation identification(Not running) E OUtpUt short Circuit Of generator.
(25) Battery ( Iosg; of capacity ) ﬂ Over heat Of fre t
(26) Hand Start Tips quency converter.
(27) Battery ( More than 8V and less than 10V ) Prompt: When the above contents are

MAGKIMA



XXXXXXXXXXXX

FAULT  oUTPUT

(28) Maintenance tips

T 5 A

XXXXXXXXXXXX

ouTPUT

[ [
29 30

(29) Fault identification
(30) Fault code symbol

FAULT  oUTPUT

I
31

(31) Maintenance identification

I ¥ S

XXXXXXXXXXXX

FAULT OUTPUT
M I

O

e S

A
o
o

GENEMAX 7000 IS

Control Function

Inverter Generator Owner's Manual

displayed in each display interface, the
contents of 9 (displayed with Blue tooth,
not displayed without Blue tooth) and 10
are also displayed at the same time.

5. When the combination switch is on the
“On” position, the engine is not started or
the engine is started successfully (running
normally): the screen interface displays
the content of 28, and the content of 28
represents the information as follows:
When the generator set reaches the
maintenance time, it needs to be
maintained immediately. If maintenance
has been carried out, operate key 7 to
clear this information.

Prompt: Operate key 7 to clear the
maintenance information, the screen
automatically switches to the next
interface.

If key 7 is not operated to clear the
maintenance information, the content of 28
will be displayed once every 1 minute in
each screen interface for 10 seconds and
the content of 28 will not be displayed
again until 2 hours later. At the same time,
the maintenance mark will not be
displayed on the right side of the Bluetooth
mark on the screen interface, until the
generator set is maintained and key 7 is
operated to clear the maintenance
information.

Oil warning light

When the oil level falls below the lower
level, the oil warning light comes on and
then the engine stops automatically.
Unless you refill with oil, the engine will
not start again.

Tip: If the engine stalls or does not start,
turn the engine switch to “ON” and
then pull the recoil starter. If the oil
warning light flickers for a few
seconds, the engine oil is insufficient.
Add oil and restart.

21



GENEMAX 7000 IS

Control Function
Inverter Generator Owner's Manual

Overload indicator light (Red)

The overload indicator light comes on
when an overload of a connected
electrical device is detected, the
inverter control unit overheats, or the
AC output voltage rises. Then, the AC
protector will trip, stopping power
generation in order to protect the
generator and any connected electric

I ¥ W devices. The AC pilot light (Green)
@ will go off and the overload indicator
XXXXXXXXXXXX light (Red) will stay on, but the engine

will not stop running.

© FALT  outRuT When the overload indicator light

O (,) O comes on and power generation
stops, proceed as follows:

@5 1. Turn off any connected electric

devices and stop the engine.

2. Reduce the total wattage of
connected electric devices within the
rated output.

3. Check for blockages in the cooling
air Inlet and around the control unit. If
any blockages are found remove.

4. After checking, restart the engine.

TIP : The overload indicator light may

come on for a few seconds at first
when using electric devices that
require a large starting current,
such as a compressor or a
submergible pump. However, this
is not a malfunction.

T » S AC pilot light (Green)

XXXXXXXXXXXX

FLT ouTRUT The AC pilot light comes on when the
engine starts and produces power.

MAGKIMA



GENEMAX 7000 IS

Control Function
Inverter Generator Owner's Manual

Frequency selection (FS) switch
Only for 100V/200V product

@ 50Hz

@ 60Hz

If you need change the machine output

frequency, please stop the generating
FREQUENGY SELEGTION set firstly, then adjust the position of

frequency switch by screwdriver. Then
@__@/@ restart it.
NOTICE | Frequency switch can

change frequency only
50Hz 60Hz when the generator setting
stops. The generator
setting output frequency
can't change if it operates.

DC protector

The DC protector turns to “OFF”
automatically when electric device being
connected to the generator is operating
and current above the rated flows. To use
this equipment again, turn on DC
protector by pressing its button to “ON” .
( “ON” Direct current is output.

@ “OFF” Direct current is not output.

Reduce the load of the connected
electric device below the specified
rated output of the generator if the DC
protector turns off. If the DC protector
turns off again, stop using the device
immediately and consult a franchised
dealer.

pC 12V 8A

[JOFF

Ground (Earth) terminal

S Ground (Earth) terminal @ connects

the earth line for prevention of electric
shock. When the electric device is
® earthed, always the generator must be

earthed.

....................... 23



GENEMAX 7000 IS

Control Function
Inverter Generator Owner's Manual

Parallel Operation Outlets

This is the terminal @ for connecting
special cables for parallel running of
two generator. The parallel running
requires two generator and the special
cables. (The rated output power of parallel
operation is 12kVA. The rated current of
two 100/200v generators in parallel is
120/60A; the rated current of two

i 120/240v generators in parallel is
100/50A; and the rated current of two
230V generators in parallel is 52A.)

The handing, operation procedure and
the notes on usage are described in the
PARALLEL RUNNING KIT OWNER'S
MANUAL included in the Parallel.

Voltage selector

Before starting the engine, select the
voltage to be used. It is usual to

disconnect or switch off all load devices
(- when using a voltage change-over switch.
LlZOV/24°V The voltage change-over switch allows the
generator to output 120V or 120/240V
only. If a 240V load device is connected to
120V a 4-hole socket, the voltage change-over
- switch must select “120/240” V gear. If
only 120V 3-port socket is to be used, the

voltage change-over switch must select
“120V” gear.

120/240V : The sockets of 120V and
120/240V can be used simultaneously.
120V : Only 120V socket can be used, it is
strictly prohibited to use 120/240V socket,
the maximum power will be provided in
120V, 30A anti-trip socket.

MAGKIMA



GENEMAX 7000 IS

Control Function
Inverter Generator Owner's Manual

AC circuit breaker

It will break to protect the electric device
when current is too heavy.

Folding handle

Pusher makes it easier to push the
generator. When the generator is at rest,
pusher should be folded. Do not place
objects on extended arms. Lift handle up
and lock handle and fix handle in place.
Extend handle - lift handle up, lock handle
and fix handle in place.

Fold handle - press down both handles to
lock the handle and lower the handle.

Maintenance door

Open and close maintenance doors for
unit maintenance.

In the case of no electrical start, open the
right maintenance door and start the
engine by recoil starter.

Make sure that the maintenance door is
closed while the engine is running.
Purpose of right door:
Inspection/replacement of engine oil;
manual start.

Purpose of left door:
Inspection/replacement of spark plugs;
inspection/cleaning of air filter; drain of
carburetor.

Open maintenance door: Rotate lock
90°anticlockwise.

Close maintenance door: Rotate lock
90°clockwise.

25



GENEMAX 7000 IS

I Pre-oparation
Inverter Generator Owner's Manual

Pre-oparation

NOTICE Pre-operation checks should be made each time
operation.

The engine and muffler will be very hot after the engine has
been run. Avoid touching the engine and muffler while they
are still hot with any part of your body or clothing during
inspection or repair.

AWARNING IS

Fuel is highly flammable and poisonous. Check
“SAFETY INFORMATION"(See page 2-5) carefully

before filling.

Do not overfill the fuel tank, otherwise it may overflow

when the fuel warms up and expands. After fill the fuel,

make sure the fuel tank cap is tightened securely.

Immediately wipe off spilled fuel with a clean.

Use only unleaded gasoline. The use of leaded gasoline

will cause severe damage to internal engine parts.

Make sure that there is enough fuel in the tank. If the fuel is not enough,
open the fuel tank cover and add fuel to the red indicated position.

Recommended fuel: Unleaded gasoline
Fuel tank capacity: Total: 25.0L

® Add fuel

26



4

GENEMAX 7000 IS

Pre-oparation

Inverter Generator Owner's Manual

The generator has been shipped without engine oil. Do not start the
engine till fill with the sufficient engine oil.

Do not tilt the generator when adding engine. This could result in
overfilling and damage to the engine.

Oil level

Upper limit

Recommended engine oil:

SAE 10W -30

Recommended engine oil grade:
API Service SE type or higher
Engine oil quantity:

1.45L

27



GENEMAX 7000 IS

Operation

Inverter Generator Owner's Manual

Operation

NOTICE Never operate the engine in a closed area or it may cause
unconsciousness and death within a short time. Operate

the engine in a well ventilated area. The generator has
been shipped without engine oil. Do not start the engine
till fill with the sufficient engine oil.

TIP:
The generator can be used with the rated output load at standard
atmospheric conditions.
“Standard atmospheric conditions ”; Ambient temperature 25c.
Barometric pressure 100kPa; Relative humidity 30%
The output of the generator varies due to change temperature,
altitude (lower air pressure at higher altitude) and humidity.
The output of the generator is reduced when the temperature, the
humidity and the altitude are higher than standard atmospheric
conditions.
Additionally, the load must be reduced when using in confined areas,
as generator cooling is affected.

STARTING THE ENGINE

1. Do not connect any electrical
equipment before starting the
gOePf?rator. Turn the idle switch to

2. According to the required voltage
requirements, select the gear of
voltage change-over switch.

3. Turn the combination switch to
“On” position.

4. One-key start - press and
release the start switch button on

°“@\ the control panel. The start

switch will start the motor for 5
seconds. When the engine starts
successfully, the starter will stop
automatically. If the engine does
not start successfully, wait at
least 10 seconds before starting
again.

Tip: Press the start button for at
least 0.5 second. When the
generator does not run, it is
strictly prohibited to put the
combination switch on the “On”
position, or the battery will be
severely depleted. When the

MAGKIMA

2 AL N e




GENEMAX 7000 IS

Operation

Inverter Generator Owner's Manual

generator is not in use, place the
combination switch in the “Off”
position.

A\
i

i
i

Recoil start

Turn the lock 90°anticlockwise, and
open right maintenance door. First,
pull the recoil starter gently, the guy
wire is tightened, and then pull hard.
Turn the lock 90°clockwise, and
close right maintenance door.

If you want to use the energy saving function, turn the idle switch to the “On”
position after the engine is started and preheated for 2-3 minutes.

Tip: When the engine is started, the ESC is on the “ON” position and the
generator cannot be connected to any load. When the environment
temperature is lower than 0 ¢ (32 °F), engine speed reaches 3,100r/min, and
warm-up time reaches 5 min. When the environment temperature is less
than 5 C (41 F), engine speed reaches 3,100 r/min, the warm-up time
reaches 3 min. After running for the above time, ESC can only work normally
when it is “ON”.

29



GENEMAX 7000 IS

Operation
Inverter Generator Owner's Manual

STOP THE ENGINE

If the engine is turned off in an
emergency, rotate the combination
switch quickly to the “Off” position.
Under normal circumstances, follow
these steps to shut down the engine.
Tip: Turn off all electrical equipment.
1. Turn the idle switch to the “Off”
position.

2. Disconnect all electrical
equipment from the AC socket.

3. Manual extinguishing: press and
release the start switch button on the
control panel. Enter the homepage
of Blue tooth APP of the mobile
phone, click the start button to turn
off the engine (skip this step and
proceed to the next step directly).

4. Turn the combination switch to the
“Off” position (ignition system off,
fuel system off, solenoid valve off,
power system off).

Tip: When the generator is not
running or not in use, put the
combination switch on the “Off”
position, otherwise the battery
will be seriously damaged to
affect the next one-key start.

MAGKIMA

30 AL e



GENEMAX 7000 IS

Operation

Inverter Generator Owner's Manual

ALTERNATING CURRENT (AC) CONNECTION

PNZ:IMINe] Be sure any electric devices are turned off before plugging

them in.

NOTICE ® Be sure all electric devices including the lines and plug

TIP:

TIP:

TIP:

connections are in good condition before connection to
the generator.
® Be sure the total load is within generator rated output.
® Be sure the receptacle load current is within receptacle
rated current.

Make sure to ground (Earth) the generator. When the electric device is
earthed, always the generator must be earthed.

1. Select the voltage change-over switch gear according to the
required voltage requirements. When the voltage change-over switch
is placed at the “120/240” V gear, the load devices of 120V and
120/240v can be used simultaneously.

If the “120/240” V load device is not used, place the voltage change-
over switch to “120” V gear.

2. Start engine and make sure that AC indicator light is green.

3. Insert the plug into AC socket/

4. Make sure that AC indicator light is on.

5. Turn on the electrical equipment.

Many electric load devices require starting power above their rated
power to start.

The ESC must be turned to “OFF” before increasing engine speed to
rated rpm.

® Most motorized appliances require more than their electrical rating
for startup. When an electrical motor is started, the overload
indicator (red) may come on. This is normal if the overload indicator
(red) goes off within 4 seconds. If the overload indicator (red) stays
on, consult your generator dealer.

@ If the generator is connected to multiple loads or electricity
consumers, please remember to first connect the one with the
highest starting current. And last connect the one with the lowest
starting current.

o If the generator is overload, or if there is a short circuit in a
connected appliance, the overload indicator (red) will go ON. The
overload indicator (red) will stay ON, and after about 4 seconds,
current to the connected appliance(s) will shut off, and the output
indicator (green) will go OFF. Stop both engines and investigate the
problem. Determine if the cause is a short circuit in a connected
appliance or an overload, correct the problem and restart the
generator.

31



GENEMAX 7000 IS

Operation

Inverter Generator Owner's Manual

AC parallel operation

Jefore connection an appliance to either generator, make sure that it is in

jood working order and that its electrical rating does not exceed that of the

eceptacle.

Juring parallel operation, the ESC switch should be in the same position on

oth generators.

.Connect the parallel operation cable between the generator to either an
generator or companion generator following the instructions

supplied with the cable kit.

!.Start the engines and make sure the output indicator (green) on each
generator comes on.

).Plug an appliance into the AC receptacle.

t.Turn on the appliance.

AC Parallel Operation Applications

rP:

o Make sure that it is in good working order. A faulty appliance or
power cord can create a potential for electrical shock.

e If an appliance begins to operate abnormally, becomes sluggish, or
stops suddenly, turn if off immediately. Disconnect the appliance and
determine whether the problem is the appliance, and determine
whether the problem is the appliance or the rated load capacity of the
generator has been exceeded.

e Make sure that the combined electrical rating of the tools or appliance
do not exceed that of the generator. Never exceed the maximum may
be used for no more than 30 minutes.

o Never connect different generator models.

Don't remove the parallel operation cable when the generator
operation.

° For single generator operation, the parallel operation cable must be
removed.

INILUGUINe] - o Substantial overloading that continuously lights the
overload indicator (red) may damage the generator

Marginal overloading that temporarily light the overload
indicator (red) may shorten the service life of the
generator.
® For continuous operation, do not exceed the rated power.
e Rated power in parallel operation is: 12kVA.

MAGKIMA

32 LA e



GENEMAX 7000 IS

' Application Range

Inverter Generator Owner's Manual

When using the generator, make sure the total load is within rated output of
a generator. Otherwise, generator damage may occur.

& | o¢
A 1L =
b I

Power factor 1 0.8-0.95 ?E?ﬁ?:iggcy 0.85)

: N N B Rated voltage12v
7000i 6000W 4800W 2700W Rated current 8A
TIP:

e “~"means below.
Application wattage indicates when each device is used by itself.
The simultaneous usage of AC and DC power is possible but total
® \wattage should not exceed the rated output.

EX:
Generator rated output 6000VA
Frequency Power factor
1.0 ~6000W
AC 0.8 ~4800W
DC —- 96W(12V/8A)

The overload indicator light comes on when total wattage exceeds the
application range. (See page 12 for more details.).

NOTICE ® Do not overload. The total load of all electrical appliances
must not exceed the supply range of the generator.

Overloading will damage the generator.

® When supplying precision equipment, electronic
controllers, PCs, electronic computers, microcomputer
based equipment or battery chargers, keep the generator
a sufficient distance away to prevent electrical
interference from the engine. Also ensure that electrical
noise from the engine does not interfere with any other
electrical devices located near the generator.

® [f the generator is to supply medical equipment, advice
should first be obtained from the manufacturer, a medical
professional or hospital.

® Some electrical appliances or general-purpose electric
motors have high starting currents, and cannot therefore
be used, even if they lie within the supply ranges given in
the above table. Consult the equipment manufacturer for
further advice.




GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

Maintenance

Safety is an obligation of the owner. Periodic inspection, adjustment and
lubrication will keep your generator in the safest and most efficient condition
possible. The most important points of generator inspection and lubrication
are explained on the following pages.

AWARNING

Improper maintenance can lead to danger, if you are not
familiar with the maintenance operation, please refer to the
designated dealer for your service.

Maintenance chart
Use only franchised dealer specified genuine parts for replacement. Ask an
authorized franchised dealer for further attention.

Routine maintenance cycle (1) ga¢p mlo:lrrjrt\s 3 months | 6 months [12 months
Item Routine | c¢heck or 20 Hr. | °" 50 Hr. |or 100 Hr.|or 300 Hr.
Inspect o
Qil
Replace ) o
Inspect ¢}
Air filter Clean o (2)
Replace O (*)
GFCI Socket| Inspect e}
Carbon canister| Inspect Every 2 years (3)
Protective tube | Inspect Every 2 years (3)
Clean e}
Spark plug
Replace ¢)
Spark arrester| Clean ¢}
Valve clearance Aé?jgfnfte'nt O (3)
Combustion
chamber Clean Every 1000 hours (3)
Fuel tank Clean Every 2 years or 1000 hours (3)
Fuel filter Replace Every 2 years or 1000 hours (3)
Fuel hose Clean Every 2 years (Replacement if necessary) (3)

Tip: (*) Replace the paper filter element.

34

MAGKIMA




GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

(1) When it is used for commercial purposes, record the running time to
ensure timely maintenance.

(2) Clean more frequently when using it in damp or dusty places.

(3) Unless you have the appropriate tools and mechanical proficiency,
these items should be maintained by the service dealer. Stop using the
generator and contact the dealer for disposal.

Failure to follow this maintenance schedule can result in an
unwarranted failure.

Add Fuel

When the engine stops, check the
level of gasoline. When the oil level is
low, add gasoline to the tank.

Gasoline is flammable
and explosive. When
refueling, you can get
burns or serious injuries.

Stop the engine and stay away from
fireworks, spark plugs and Flame and
so on. Fuel only outdoors. Quickly
The spilled fuel is wiped clean.

NOTICE | Gasoline can damage

paint and plastics. When
refueling, take care not
to spill gasoline.

Add gasoline in a well-ventilated area
before starting the engine. If the
engine is running, let it cool down
automatically. It is strictly prohibited
to fill more than the fuel filter scale on
the tank bracket (red).

It is strictly prohibited to add gasoline
in the closed environment, because
the gasoline will contact spark and
flame after volatilization. Keep
gasoline away from electrical
indicator lights, household
appliances, barbecue, power tools,
etc.

Spilling fuel not only causes fires, but
also causes environmental damage.
Wipe off the spilled fuel quickly.

....................... 35



GENEMAX 7000 IS

Maintenance
Inverter Generator Owner's Manual

ENGINE OIL INSPECTION

]

wl
i

Check engine oil when engine is
stopped and placed on a horizontal
surface.

1. Rotate the lock 90°anticlockwise,
and open right maintenance door.

2. Remove the oil gauge.

3. Check the oil. If the oil level is
below the highest mark, add the
specified oil to the highest mark.

4. Reinstall the oil gauge.

5. Rotate the lock 90°clockwise, and
close right maintenance door.

When the oil level is below the
minimum safety scale, the oil alarm
system will automatically shut down
the engine. For this reason, in order
to avoid unexpected shutdown
inconvenience, check the oil usually.

Discharge oil when engine is hot to
ensure rapid and thorough discharge
of oil.

1. Rotate the lock 90°anticlockwise,
and open right maintenance door.
2. Remove the black rubber seal ring
under the oil drain bolt.

3. A suitable container for oil is
placed at the bottom of the engine.
4. Remove the oil gauge.

5. Remove oil drain bolts and
washers to drain oil thoroughly.

6. Reinstall the oil drain bolts and
washers and tighten the oil drain
bolts.

7. Reinstall the black rubber seal
ring.

8. Place the generator on a
horizontal surface and add the
specified oil to the maximum scale.
9. Reinstall the oil gauge.

10. Rotate the lock 90°clockwise,
and close right maintenance door.

MAGKIMA



GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

OIL SPECIFICATION TABLE

Qil is an important factor which

> affects performance and service
life. Use four-stroke oil.
W30 oW 30 SAE 10W30 is recommended for
regular use. However, when the
TR R T average temperature in your area is
—— ————————— within the recommended range, you
20 10 O 10 20 30 40°C i i i
AVENT TP EARTUR can use other viscosity types of oil

shown in the chart.

AIR FILTER

1. Rotate the lock 90°anticlockwise,
and open left maintenance door.

2. Loosen the air filter cover clamp
and remove the air filter cover, foam
filter core, filter core bracket and
paper filter core together.

3. Paper filter element:

a. Remove the paper filter element
from the filter holder.

b. If the paper filter element is dirty,
replace it with a new one. Do not
clean the paper filter element.

c. Insert the paper filter element into
the filter holder.

4. Foam filter:

a. Remove the foam filter element
from the empty filter cover.

b. Check the foam air filter to make
sure that it is clean and in good
condition. If the foam filter element
is dirty, refer to the following page
for cleaning. If the foam filter
element is damaged, replace it with
a new one.

5. Put the foam filter element, the
filter holder and the paper filter
element together into the empty
filter cover.

6. Install the air filter cover and lock
the cover clamp.

7. Close the left maintenance door,
and rotate the lock 90°clockwise.

....................... 37



GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

NOTICE [ Dust can enter the

engine and quickly wear
it out, if the engine runs
without a filter element
or if the filter element is
damaged.

FOAM FILTER CLEANING

The foam filter element of the dirty
air filter will restrict the air flow to the
fuel system and reduce the engine
performance. If the generator is used
in a dusty area, the maintenance
frequency of the air filter's foam filter
element is higher than that in the
maintenance requirements.

1. Wash the filter element in warm
soapy water and let it dry naturally,
or clean and dry it in a non-
flammable solvent.

2. Dip the filter element into clean oil
and squeeze out excess oil. If there
is too much oil left in the filter
element, start the engine and the
engine will smoke.

3. Use a wet cloth to remove dirt
from the inside of the air filter's
cover. Take care to prevent dust from
entering the air ducts which leads to
the fuel system.

SPARK ARRESTER

The spark collector must be
maintained every 100h to keep the
engine running normally.

After running the engine, the engine
and muffler will become very hot. Do
not allow your skin and clothes to
directly touch the engine and muffler.
When the motor and muffler are
cooled, check and clean them up.

MAGKIMA



GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

The spark collector must be
maintained every 100h to keep the
engine running normally.

After running the engine, the engine
and muffler will become very hot. Do
not allow your skin and clothes to
directly touch the engine and muffler.
When the motor and muffler are
cooled, check and clean them up.

1. Loosen two M5 x 12 pan head
bolts and remove mounting cover,
muffler mesh cover and spark
collector

2. Clean the muffler's mesh cover
and the cumulative carbon on the
spark collector with a steel wire
brush.

NOTICE [ Clean them with steel

wire brush gently to
avoid damage or scratch
to muffler's mesh and
spark collector. The
spark collector must not
be broken or cracked. If
it is damaged, please
replace it in time.

3. Reload the spark collector in
reverse order to remove the spark
collector.

SPARK PLUG

In order to maintain the spark plug,
you need to prepare a set of spark
plug sleeve & and loading rod @.

In order to make sure that the engine
is running properly, spark plug must
be clean and carbon-free.

NOTICE | Incorrect spark plug can

cause damage to engine.

If the engine is hot, let it cool naturally
before maintenance of spark plug.




GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

1. Rotate the lock 90°anticlockwise,
and open left maintenance door.

2. Loosen bolt of spark plug's
maintenance cover and remove it.
3. Remove the spark plug cap,
remove impurities and dust around
the spark plug, and place the sleeve
in the appropriate position of the
spark plug.

4. Use the spark plug sleeve and the
loading rod (insert the loading rod
into the sleeve), rotate
counterclockwise and remove the
spark plug.

5. Check the spark plugs. Replace
the spark plug, if the electrode is
worn or stained, or if the insulator is
cracked or broken.

Standard spark plug: F7TRTC/F7TC,
clearance of spark plug: 0.6-0.8mm.
6. After ensuring that the spark plug
is in good condition, fix the spark
plug gently to the head of the
cylinder by hand to prevent thread
damage caused by force.

7. After the spark plug is fixed,
tighten it with the spark plug sleeve.
If the used spark plug is to be
reinstalled, tighten 1/8-1/4 circle
manually after fixing the spark plug
and before tightening it to the
specified position.

If the newly installed spark plug is to
be reinstalled, tighten 1/2 circle
manually after fixing the spark plug
and before tightening it to the
specified position.

Torque: 13.3 LBS. Ft (18 N.M, 1.8
kg.m)

Tip: If the spark plug is installed
without torque wrench, a better
estimation method is to tighten 1/4-
1/2 circle manually, but the spark
plug should be tightened to the
specified torque.

MAGKIMA



GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

NOTICE [ Loose spark plugs may

0.024-0.031 i overheat and damage the
engine. Excessive
tightening of spark plugs
can damage the thread
on the head of cylinder.

8. Install the spark plug cap.

9. Install spark plug maintenance
cover and tighten maintenance
cover's bolts.

10. Close the left maintenance door,
and rotate the lock 90°clockwise.

BATTERY

When the engine is running, the generator's charging system will
automatically charge the battery. However, if the generator is only used
regularly, it must be charged monthly to maintain the service life of the
battery.

Remove battery

Battery terminals, wiring terminal and
associated accessories containing
lead and lead compounds. Wash
hands immediately after handling.

1. Lift handle up, lock handle and fix
it in place.

2. Loosen the bolts of maintenance
cover, and remove the battery
maintenance cover @.

3. Remove the negative (-) cable
from the negative (-) terminal of the
battery, and then remove the positive
(+) cable from the positive (+)
terminal of the battery.

4. Remove the battery band from the
hook at the bottom of generator.

5. Remove the battery from the
mounting box.




GENEMAX 7000 IS

Maintenance

Inverter Generator Owner's Manual

Install the battery

1. Put the battery in the mounting
box.

2. Connect the positive (+) cable with
the positive (+) terminal of the
battery, tighten the bolt and cover the
rubber cap.

3. Connect the negative (-) cable with
the negative (-) terminal of the
battery, and tighten the installation
bolt.

4. Install the battery band.

Positive (+) Positive (-) 5. Reinstall battery maintenance
cover and tighten the bolts.

In the case that the battery
maintenance cover is not assembled,
it is strictly prohibited to run the
generator, otherwise the performance
of the generator and the engine will
become poor.

BATTERY CHARGING

TIP:
® The generator DC rated voltage is 12V.
e Start the engine first, and then connect the generator to the battery
for charging.
e Before starting to charge the battery, make sure that the DC
protector is turned on.

1.Start the engine.

2.Connect the red battery charger lead to the positive (+) battery
terminal.

3.Connect the black battery charger lead to the negative (-) battery
terminal.

4.Turn the ESC “OFF” to start battery charging.

NOTICE ® Be sure the ESC is turned off while charging the battery.

® Be sure to connect the red battery charger lead to the
positive (+) battery terminal, and connect the black lead
to the negative (-) battery terminal. Do not reverse these
positions.

® Connect the battery charger leads to the battery terminals
securely so that they are not disconnected due to engine
vibration or other disturbances.

MAGKIMA



GENEMAX 7000 IS

Maintenance

]

Inverter Generator Owner's Manual

NOTICE ® Charge the battery in the correct procedure by following

instructions in the owner's manual for the battery.

® The DC protector turns off automatically if current above
the rated flows during battery haring. To restart charging
the battery, turn he DC protector on by pressing its button
to “ON”. If the DC protector turns off again, top charging
the battery immediately and consult a franchised dealer.

YNIZGINIe] @ Never smoke or make and break connections at the
battery while charging. Sparks may ignite the battery
gas.

® Battery electrolyte is poisonous and dangerous, causing
severe burns, etc. contains sulfuric (sulphuric) acid.
Avoid contact with skin, eyes or clothing.

Antidote:

External- Flush with water.

INTERNAL- Drink large quantities of water or milk. Follow with milk of
magnesia, beaten egg or vegetable oil.

Call physician immediately.

EYES: Flush with water for 15 minutes and get prompt medical attention.
Batteries produce explosive gases. Keep sparks, flame, cigarettes, etc.,
away. Ventilate when charging or using in closed space. Always cover eyes
when working near batteries.

KEEP OUT OF REACH OF CHILDREN

43



GENEMAX 7000 IS

Maintenance
Inverter Generator Owner's Manual

PROTECTIVE TUBE

If the fuse blows, the generator will
stop.

In the case of a fuse failure, find out
the cause of the failure and fix it
before continuing to use. If the fuse
continues to fail, stop using the
generator and contact the dealer.

1. Turn the combination switch to the
“Off” position, before checking and
replacing the fuse.

2. Loosen the bolts of battery
maintenance cover, remove the
battery maintenance cover .

3. Open the cover of the fuse
mounting box @ (90 °

5A  20A @ counterclockwise)
4. Replace the fuse with the one of
® the same type and grade.

Specifications of fuse: 5A, 20A.

NOTICE | Prohibited the use of

fuses that do not
conform to the type
and grade, or they may
cause serious damage
to the electrical system
or fire.

5. Cover the fuse mounting box and install the
battery maintenance cover.

20A 5A

MAGKIMA



GENEMAX 7000 IS

| . .
['] Accessories Installation

Inverter Generator Owner's Manual

Accessories Installation
REMOVE ACCESSORIES

Remove the attachment, remove the generator and attachment box from
the packing box, and count the number of attachments according to the

following table.

No.

Name Quantity

Wheel 2

Axle

B pin

Washer

Bolt

Frame shock absorber bracket (left)

N[O~ =

Frame shock absorber bracket (right)

S |=a]10oININ|—=

WHEEL SET INSTALLATION

Tool requirements:12 mm wrench, 10 mm wrench, crosshead screwdriver

used for battery wiring, and clamp.

It is strictly forbidden to run the generator, when the wheel kit is not
installed. The wheel kit provides air flow space between the ground and the

air inlet of generator.

NOTICE | If the wheel kit is not installed, dust and debris may be sucked

installed.

into the duct of generator, which will cause damage to the
generator. Be sure to run the generator after the wheel kit is

1. Install the wheels to the
generator with two
washers and pin clamps.
2. Install the axle onto the
generator with four M8x16
bolts.

3. Install the frame shock
absorber bracket (left)
onto the generator with
two M8x16 bolts.

4. Install the frame shock
absorber bracket (right)
onto the generator with
two M8x16 bolts.

Torque: 11-16 LBS. Ft
(15-22 N.M, 1.5-2.2kg.m).

45



46

GENEMAX 7000 IS

| Transporting

Inverter Generator Owner's Manual

Transporting

If the generator set just runs, allow it to cool naturally for at least 15 minutes
before loading it into the vehicle. The thermal power and exhaust system
can cause harm to people and ignite some combustible materials. To
prevent fuel leakage, the generator shall be placed horizontally and the
engine switch shall be off during transportation.

AWARNING

When transporting the generator:

® Do not overfill the tank.

® Do not operate the generator while it is on a vehicle. Take the
generator off the vehicle and use it in a well ventilated place.

® Avoid a place exposed to direct sunlight when putting the generator
on a vehicle .If the generator is left in an enclosed vehicle for many
hours, high temperature inside the vehicle could cause fuel to
vaporize resulting in a possible explosion.

e Do not drive on a rough road for an extended period with the
generator on board. If you must transport the generator on a rough
road, drain the fuel from the generator beforehand.

NOTE:

To transport the generator, hold the holding part(See below).

Take care not to drop or strike the generator when transporting.

Do not place heavy objects on the generator.

When the rope or strap is used for fixing generator for transportation,
only the frame's lifting part must be used as the connection point. Do
not attach rope or strap to the main body of the generator or to any
position on the folding handle.




GENEMAX 7000 IS

i [ Storage and Transportation

Inverter Generator Owner's Manual

Storage and Transportation

Long term storage of your machine will require some preventive procedures
to guard against deterioration.

In order to make your generator trouble-free and in good condition, proper
storage preparation is essential. The following steps will help to prevent rust
and corrosion that damage the generator's function and appearance, and
make it easier to start the engine when you use the generator again.

FUEL

NOTICE Depending on the area of operation equipment, the fuel may
deteriorate and oxidize rapidly. The fuel may deteriorate and
oxidize within 30 days and may cause damage to the fuel
system.

Fuel may deteriorate and oxidize during storage. Old gasoline can make it
difficult to start and leave deposits that can clog up the fuel system. If
gasoline in the generator deteriorates during storage, maintenance and
replacement of fuel system's components may be required. The length of
time of gasoline which remains in the fuel tank and will not cause functional
problems varies with factors such as the mixture of gasoline, storage
temperature, and whether the tank is partially or fully filled. The partially
filled air in the tank can cause the fuel to deteriorate. Higher storage
temperature can accelerate fuel deterioration. Fuel deterioration problems
can occur within months, or even less if the gasoline added to the tank is not
fresh.

The distributor's effective warranty does not cover damage to the fuel system
or performance problems caused by careless storage. You can extend fuel
storage life by adding gasoline stabilizers, or you can avoid fuel deterioration
problems by removing fuel from the tank.

DRAIN THE FUEL

47



48

GENEMAX 7000 IS

i [ Storage and Transportation

Inverter Generator Owner's Manual

1. Turn the combination switch to “ON” position.
2. Open the tank cover and remove the filter; all the fuel in the tank is
extracted into the special tank and then put back into the filter screen and
tank cover.
3. Fuel oil is extremely volatile and toxic. Please read “Safety Tips” carefully
and use clean and soft cloth to test the fuel oil, which prevents damage to
the plastic cover.
4. Start the engine, about 20 minutes later, till the fuel runs out, the engine
will automatically stop.
TIP:
® Do not connect with any electrical devices. (Unloaded operation).
® Duration of the running engine depends on the amount of the fuel left
in the tank.
5. Rotate the lock 90°counterclockwise, and open the left
maintenance door.
6. Loosen the drain bolt on the carburetor and put the fuel in the
carburetor into the special tank.
7. Turn the combination switch to “Off” position.
8. Tighten the drain bolt on the carburetor.
9. Rotate the lock 90°clockwise, and close the left maintenance door.

ENGINE

Follow the following steps to protect the tank, piston ring and other
vulnerable parts.

1. Open the left maintenance door, loosen the bolt of spark plug
maintenance cover, and remove the spark plug's maintenance cover.

2. Remove spark plug, and pour one tablespoon of SAE10W30 oil.

3. Turn the combination switch to “Off” position.

4. Open the right maintenance door, and pull the recoil starter for a few
minutes to lubricate the cylinder.

5. Install spark plugs and pull the recoil starter, till you feel tight (prevent
cylinder and valve from rusting).

6. Install the spark plug's maintenance cover, and close left and right
maintenance doors.

7. Clean the surface of the unit, and put the unit in a ventilated and dry
horizontal place. Cover it with a sleeve.

MAGKIMA



GENEMAX 7000 IS

Common Fault Analysis
Inverter Generator Owner's Manual

Common Fault Analysis

Failure to Start of Engine

No. Potential Reasons Countermeasures
1 The combination switch is placed on Turn the combination switch to the
the “Off” position. “On” position.
2 |Not enough fuel in the tank. Add fuel.

The engine is untreated or fails to
3 | exhaust gasoline during storage, or
inferior gasoline is added before use.

Too low oil level causes the oil alarm
system to run.

Drain the fuel from the tank, and refill
with new gasoline.

Add engine oil.

Turn the combination switch to the
“Off” position, pull recoil starter for

5 | The spark plug got wet by gasoline. five times or more times, which can
dry the spark plug. If it still doesn't
run, remove the spark plug and dry it.

6 Ignition system fault, wiring harness

fault. valve clearance, etc. Contact dealers for handling.

Decrease of output power

No. Potential Reasons Countermeasures
1 |Air filter element failure Clean or replace filter element.

The engine is untreated or fails to
2 |exhaust gasoline during storage, or
inferior gasoline is added before use.

Ignition system fault, wiring harness
fault, valve clearance, etc.

Drain the fuel from the tank, and refill
with new gasoline.

3 Contact dealers for handling.

No output of control panel

No. Potential Reasons Countermeasures
Check AC load. Stop and restart the
AC indicator light is off, and overload | €ngine.

indicator light is on. Check the inlet of cooling duct. Stop
and restart the engine.

Check AC load and reset over-current
protector.

Test GFCI and reset button. Replace
or repair load tools or equipment.

Replace or repair load tools or
equipment,Stop and restart the engine.

5 |Other faults of engine Contact dealers for handling.

2 | Over-current protector action.

3 | GFCI system action.

4 |Load tool or equipment failure.




50

GENEMAX 7000 IS

I
Parameters
Model No. 7000 1S
Type Inverter
Rated frequency /Hz % 50/60/50&60
Rated voltage /V 230,120/240,100/200
Maximum power MAX/kVA 7.0
Rated power COP/kVA 6.0
Power factor 1.0
AC output quality 1S08528 G2
Generator THDI/% 15
z\g%fs:aolég;/el dB/LpA/LWA/K 4m 70/ 90
DC Output/ V-A 12-8
DC Non-fuse Protector
Overload Control by inverter overload
Protect AC
protect program
Engine LC190FD-2
Engine type Single cylinder_, 4-Stroke,
forced air cooling, OHV
Displacement/cc 420
Fuel type Unleaded Gasoline
Engine Fuel capac.:ity/L 25
C'ontinue Running 6.5
Time (at rated power) / h
Oil Capacity/L 1.45
Spark Model No. F7TC/F7TRTC
. Recoil start /
Starting mode Electric start / APP start
LengthxWidthxHeight/mm 950%x765%773
Generator Wheel / inch 2x10
Net weight/kg 130

MAGKIMA




)¢

@ 120V/240V

o H
IE 3
H 2 5
| & o o
H ! 2
g Rt

o om

GENEMAX 7000 IS

Electrical Schematic Diagram

Inverter Generator Owner's Manual

lue tooth over
Y/G
Gasoline level sensor

High spoed

Communication line TX

A

eomve
we
s

'EE ;__"’o- |
' & R %m |} |
RE T TLTIS |
0 |

v v

Starter motor  Batery.

Carburetor
solenoid valve

l

5
2
5
| z
‘} ‘l i
| oc & -]
it
HE I
>
I {‘i’
g Jl
o
o
I ® 5 5
| 2 3 g g 8
e 3 g g s
c @ 3 5 ]
|._u £ ° 5
Z T =

|_GE
|
|
|
|
|
|

Triggered coil Ol sensor Spark plug Stepper motor speed

L
DC-spoel
Igniter
e
v

I Engine block

R/W RedWhite

51



52

GENEMAX 7000 IS
Electrical Schematic Diagram
Inverter Generator Owner's Manual

@ 120V/240V (Parallel socket with 50A)

7

CONTROL PANEL BLOK(

Escowien

sy

H
c
— g
.
- N 3
€
—f—e ]
|

P
]

(&
Cylinds

inder
tomperture sensor

Bl RO
Chok
tepper mol

/

B T
_Z 2 ok
Starter motor ~ Battery stepper

Carburetor
solenoid valve

Stepper motor speed

t W o

P
/G ——2e
Igniter

e

NERATOR BLOCK

L s
DC-spoel
N s
Y
Triggered coil Oil sensor  Spark plug

Hoofdspoel
Hoofdspoel

I Engine block

|_GE
|

|

I

I

I

I

|

I

I
|_




GENEMAX 7000 IS

Electrical Schematic Diagram

Inverter Generator Owner's Manual

)¢

@® 100V/200V

o ., L s - = 7
| b : [
: 3 . 8
g 3 H { O Lo
ls ¢ 1o i [
H g 54
I ®
I e |
¥ I
1 H
| s |
£
n S
| g
| {5 — :
| : i o
3
! I
H
LU [t —= I
:
EEEEEIIL g
LT =3
& ? i
] 4' i
1 Tl E
Frpeh 1 |
| u L ' g
\:ﬁﬁl 5 |

Inverter

T
|
|
=
|
o |

— HHE
5§ gl
HH fl T
b
I ||
—> B
g |

FIE I
I i1 .
E s
)
I i H=
S i—
S : I
12 = B = = 5
= 2 H ] 3 g
g % 8 2 g 2
S 5 2 3 § K | g
g ° £ s 5 ° B
i = = 2
E =3
& >
[l Ll =




GENEMAX 7000 IS

Electrical Schematic Diagram

Inverter Generator Owner's Manual

@ 230V

2
I
I
I

receptacle

CONTROL PANEL BLOKC

parallel

—
-
AC receptac

Breaker 16A Losvc
R
" receptacle
o
o o
oavo

L

Breaker 164

fremumrr]
W
o

Broaker 30A

ESC switch

USB receptacl
DC receptacle

circuitbreaker 10A

Y/6

Gasoline level sensor

Inverter

= |
=
—1
2 )
N
i |
i
Eé I
b
.3
£2
4
.
n <
L] I
k]
i
g |
L

ERATOR BLOCK
Subspoel
Hoofdspoel

[~ cenera
|

|

|

|

|

|

|

|

—

54

Hoofdspoel

R—— T
2ome

/G

Ignition coil v

—
g
—B—

Triggered coil Oil sensor  Spark plug Stepper motor speed

L
DC-spoel
Igniter
o
v

I Engine block




GENEMAX 7000 IS

P

Ser.No P/N Maxima Description Quantity
1 GEN380140077 BOLT, FLANGE M6x20 6
2 GEN120230190 COVER, HEAD 1
3 GEN110850032 GASKET, CAP, BREATHER 1
4 GEN110840040 CAP, BREATHER CHAMBER 1
5 GEN380140037 BOLT, FLANGE M6x10 4
6 GEN120250070 PACKING, HEAD COVER 1
7 GEN160190127 SHROUD COMP 1
8 GEN380140337 BOLT, FLANGE ,M10x80 4
9 GEN120080668 HEAD COMP,,CYLINDER 1
10 GEN120150141 GASKET, CYLINDER 1
11 GEN380600116 PIN, DOWEL 2
12 GEN270960014 PLUG , SPARK F7RTC 1
13 GEN380180092 BOLT, STUD,I N 2
14 GEN380180099 BOLT, STUD, EX. M8x54 2
15 GEN380741374 TUBE, BREATHER 1
16 GEN160720011 CYLINDER TEMPERATURE SENSOR 1

55



GENEMAX 7000 IS

CRANKCASE

Ser.No P/N Maxima Description Quantity
1 GEN110810406 CRANK CASE 1
2 GEN380650337 OIL SEAL 35x52x7 1
3 GEN380630099 BEARING 6202 1
4 GEN281850152 SWITCH ASSY., OIL LEVEL 1
5 GEN380140013 BOLT ,FLANGE M6x16 4
6 GEN380450516 WASHER, DRAIN PLUG 1
7 GEN110260024 BOLT, DRAIN PLUG 1
8 GEN160200079 BOTTOM, GUARD SHIELD 1
9 GEN380140037 BOLT, FLANGE M6x10 4
10 GEN160190128 SHROUD COMP 1
11 GEN380140077 BOLT, FLANGE M6x20 4
12 GEN270360153 STARTER MOTOR 1
13 GEN380140126 BOLT, FLANGE M10x40 2
14 GEN380600117 PIN, DOWEL 10x14 2
15 GEN110480051 PLATE 1
16 GEN380850016 BOLT, STUD 1
17 GEN380930085 LOCATION CABLE CLIP 1
},1{
MA AKIMA

56 LA e



GENEMAX 7000 IS

CRANKCASE COVER

Ser.No P/N Maxima Description Quantity
1 GEN270020428 FLYWHEEL COMP 1
2 GEN380140005 BOLT, FLANGE M8x40 7
3 GEN380140149 BOLT, FLANGE M8x60 1
4 GEN380370050 NUT, FLANGE M16 1
5 GEN380650337 OIL SEAL 35x52x7 1
6 GEN110820245 COVER, CRANKCASE 1
7 GEN110690098 CAP ASSY 1
8 GEN110830073 PACKING, CASE COVER 1
9 GEN380600119 PIN, DOWEL 8x12 2
10 GEN380630665 BEARING 6307 1
11 GEN380630099 BEARING 6202 1
12 GEN380180205 BOLT, STUD M8x58 2

57



GENEMAX 7000 IS

CRANKSHAFT/PISTON

Ser.No P/N Maxima Description Quantity
1 GEN130070281 RING SET 1
2 GEN130060034 PIN, PISTON 1
3 GEN380560057 CLIP, PISTON PIN 2
4 GEN130030233 PISTON 1
5 GEN130150049 ROD ASSY., CONNECTING 1
6 GEN130290663 CRANKSHAFT COMP 1
7 GEN130450016 WEIGHT, BALANCER 1

58




GENEMAX 7000 IS

=8

10

ROCKER, CAMSHAFT

Ser.No P/N Maxima Description Quantity
1 GEN380140077 BOLT, FLANGE M6x20 2
2 GEN140450069 ARM COMP. 2
3 GEN140510059 VALVE ROCKER SHAFT 2
4 GEN140670017 ROD, PUSH 2
5 GEN140690004 LIFTER VALVE 2
6 GEN140020109 CAMSHAFT ASSY. 1
7 GEN500550063 VALVE COMP. 1
8 GEN140320002 ROTATOR, VALVE 2
9 GEN140390015 VALVE LOCKER 4
10 GEN140380021 RETAINER, VALVE SPRING 2
11 GEN140340025 SPRING, VALVE 2
12 GEN140360010 SEAT, VALVE SPRING 1
13 GEN140400012 SEAL,GUIDE 1

59



GENEMAX 7000 IS

STARTER SUBASSEMBLY

Ser.No P/N Maxima Description Quantity
1 GEN380140037 BOLT ,FLANGE M6x10 4
2 GEN193500161 STARTER ASSY. 1
3 GEN380140077 BOLT ,FLANGE M6x20 5
4 GEN160210171 FAN COVER 1
},1{
MA AKIMA

0 s AL e



GENEMAX 7000 IS

CARBURETOR
Ser.No P/N Maxima Description Quantity
1 GEN170430217 PACKING, INSULATOR 1
2 GEN170440116 INSULATOR,CARBURETOR 1
3 GEN170430218 PACKING., CARBURETOR 1
4 GEN170022128 CARBURETOR 1
5 GEN380200069 SCREW, M3X5 4
6 GEN660910003 SPEED VARIABLE STEPPER MOTOR 1
7 GEN660910007 SPEED VARIABLE STEPPER MOTOR 1
8 GEN380200046 SCREW, TAPPING , M4x12 2
9 GEN660920010 BRACKET, ELECTROMOTOR 1
10 GEN380140013 BOLT, FLANGE M6x16 2
11 GEN170460019 FUEL PUMP ASSY 1
12 GEN380960155 CARD HOOP COMBINATION 2
13 GEN380741375 TUBE, BREATHER 1
14 GEN380751067 TUBE, FUEL 1
15 GEN380960120 CARD HOOP COMBINATION 2
16 GEN170470020 BRACKET, FUEL PUMP 1
17 GEN380140037 BOLT, FLANGE M6x10 2
18 GEN380940346 STRAP CLAMP 2

61




GENEMAX 7000 IS

® 14
1 ® 10
15
, 3
(Co - 4
= |
|
\l
- [
- |
16
AIR CLEANER
Ser.No P/N Maxima Description Quantity
1 GEN180021005 AIR CLEANER 1
2 GEN180070288 COVER, AIR CLEANER 1
3 GEN180130334 ELEMENT, AIR CLEANER 1
4 GEN183010015 AIR FILTER ELEMENT SUPPORT PLATE 1
5 GEN180100122 ELEMENT, AIR CLEANER ASSY. 1
6 GEN180160018 AIR INLET LINKER 1
7 GEN180280154 BASE, AIR CLEANER 1
8 GEN380960273 CARD HOOP COMBINATION 2
9 GEN180180213 AIR INLET LINKER 1
10 GEN180070287 COVER, AIR CLEANER 1
11 GEN180280153 BASE, AIR CLEANER 1
12 GEN381760015 SPRING BUCKLE 2
13 GEN170430220 SEAL RING 1
14 GEN380370048 NUT, FLANGE, M6 3
15 GEN380140077 BOLT, FLANGE M6x20 3
16 GEN380930121 LOCATION CABLE CLIP 1

62




GENEMAX 7000 IS

ROTOR.STATOR

Ser.No P/N Maxima Description Quantity
1 GEN380140077 BOLT, FLANGE M6x20 6
2 GEN193590042 PULLEY, STARTER 1
3 GEN160180047 FAN COOLING 1
4 GEN380370050 NUT SPECIAL, M16 1
5 GEN660080577 ALTERNATOR ASSY. 1
6 GEN660110118 MOTOR ROTOR 1
7 GEN660100175 MOTOR STATOR 1
8 GEN380140149 BOLT, FLANGE M8x60 4
9 GEN380900062 STRAP 3
10 GEN380140332 BOLT, FLANGE M5x10 2
11 GEN270140021 TRIGGER 1
12 GEN380140103 BOLT, FLANGE M6x25 2
13 GEN662840001 TRIGGER BRACKET 1
14 GEN271000271 IGNITION 1
},1{
MA AXKIMA

....................... 63



GENEMAX 7000 IS

&
=
[
o) @
&b ¢
&l a
A
)
&

-3 P

FUEL TANK

64

Ser.No P/N Maxima Description Quantity
1 GEN170870106 CAP COMP, FUEL FILLER 1
2 GEN170720014 FILTER, FUEL TANK 1
3 GEN380841189 SEAL RING, FUEL TANK 1
4 GEN380140054 BOLT, FLANGE, M6x30 4
5 GEN380451268 WASHER, FLAT 4
6 GEN170710026 COLLAR, TANK CUSHION 4
7 GEN170700050 RUBBER, FUEL CUSHION 4
8 GEN380370048 NUT,FLANGE, M6 2
9 GEN662830001 FUEL LEVEL SENSOR COVER PLATE 1
10 GEN380841192 SEAL RING 1
11 GEN110480052 PRESS PLATE 1
12 GEN380220009 SCREW, FLAT, 5x16 2
13 GEN281850346 METER COMP,, FUEL 1
14 GEN170501409 TANK COMP,, FUEL 1
15 GEN343210045 TANK DECORATION COVER,FRONT 1
16 GEN343210046 TANK DECORATION COVER,BACK 1
17 GEN380690017 SCREW FLAT MAT COMBINATION 9
18 GEN380960155 CARD HOOP COMBINATION 1
19 GEN380751072 TUBE, FUEL 1
X
MAXIMA




GENEMAX 7000 IS

20 GEN380960170 CARD HOOP COMBINATION
21 GEN380751064 TUBE, FUEL

22 GEN170010016 FUEL FILTERS

23 GEN380750746 TUBE, FUEL

24 GEN170980135 COCK COMP, FUEL

25 GEN380140011 BOLT, FLANGE, M6x10

26 GEN661920020 COMBINED SWITCH PARTS
27 GEN173260011 OIL SWITCH KNOB

28 GEN381210035 SCREW M4x18

65



GENEMAX 7000 IS

MUFFLER

Ser.No P/N Maxima Description Quantity
1 GEN380370048 NUT,FLANGE, M6 7
2 GEN180960228 MUFFLER COVER, BACK 1
3 GEN380370007 NUT,FLANGE, M8 2
4 GEN180572388 MUFFLER COMP 1
5 GEN180660091 GASKET,EX.PIPE 1
6 GEN180590343 PIPE COMP, EX 1
7 GEN180650005 GASKET, MUFFLER 1
8 GEN380390033 NUT M8 2
9 GEN380140759 BOLT, FLANGE M10x40 2
10 GEN380823669 BUSHING 2
11 GEN182090014 MUFFLER INSULATION BOARD 1
12 GEN182190006 HEAT INSULATION COTTON (GLASS FIBER) 1
13 GEN380140009 BOLT, FLANGE, M8x12 4
14 GEN290340060 RUBBER BUFFER 2
15 GEN380140013 BOLT, FLANGE, M6x16 3
16 GEN180960227 MUFFLER COVER, FRONT 1
17 GEN380140039 BOLT, FLANGE, M6x8 2
18 GEN181930032 CARBON TANK BRACKET 1
19 GEN182000049 MUFFLER REINFORCEMENT PLATE 1
20 GEN380140209 BOLT, FLANGE, M6x14 7
},1{ ,,
MA AKIMA

6 s AL e



GENEMAX 7000 IS

HANDLE KIT
Ser.No P/N Maxima Description Quantity
1 GEN381350015 PIN, LOCK 2
2 GEN380451231 WASHER, FLAT 2
3 GEN660690063 WHEEL COMP. 2
4 GEN660730071 AXLE PIN 1
5 GEN380140108 BOLT, FLANGE, M8x16 8
6 GEN300800054 BRACKET, SHOCK ABSORBER 1
7 GEN300800053 BRACKET, SHOCK ABSORBER 1
8 GEN380100056 BOLT, M8x26 2
9 GEN380450824 WASHER,FLAT 2
10 GEN380510011 WASHER 2
11 GEN320750024 HANDLE PIPE LIMIT BLOCK 2
12 GEN381140628 TENSION SPRING 2
13 GEN192530001 LOCKING HANDLE 2
14 GEN320180285 RUBBER JACKET 2
15 GEN320050117 CONNECTION SEAT 1
16 GEN380190116 INNER SIX ANGLE SCREW 2
17 GEN380190506 INNER SIX ANGLE SCREW 2
18 GEN320050116 CONNECTION SEAT 1
19 GEN320400086 PIPE, HANDLE 1
20 GEN320180206 RUBBER JACKET 2

67



GENEMAX 7000 IS

FRAME

Ser.No P/N Maxima Description Quantity
1 GEN300720631 FRAME COMP 1
2 GEN290340059 RUBBER BUFFER 3
3 GEN380841183 SEAL RING, FRAME FRONT PART 1
4 GEN380140108 BOLT, FLANGE, M6x16 4
5 GEN320420043 HANDPIPE CONNECTION BRACKET,LEFT 1
6 GEN380841193 SEAL RING 1
7 GEN320420044 HANDPIPE CONNECTION BRACKET,RIGHT 1
8 GEN380841194 SEAL RING 1
9 GEN290340062 RUBBER BUFFER 2
10 GEN380841184 SEAL RING, FRAME BACK PART 1
11 GEN300730054 FRAME CROSS GEAR 1
12 GEN380190150 BOLT,M6x12 2
13 GEN303240009 MOTHERBOARD 1
14 GEN380690017 SCREW FLAT MAT COMBINATION 2
15 GEN380370007 NUT,FLANGE M8 4
16 GEN300780040 RUBBER, SHOCK ABSORBER 2
17 GEN380370026 NUT,FLANGE M10 5
18 GEN300780042 RUBBER, SHOCK ABSORBER 1
19 GEN300780041 RUBBER, SHOCK ABSORBER 1
},1{
MA AKIMA

8 s AL e



GENEMAX 7000 IS

20 GEN341950030 ENGINE SUPPORT PLATE (FRONT) 1
21 GEN380140125 BOLT, FLANGE, M8x25 2
22 GEN341950031 ENGINE SUPPORT PLATE (BACK) 1
23 GEN662690002 OIL RELEASING RUBBER 1
24 GEN380140011 BOLT, FLANGE, M6x10 3
25 GEN181940100 TUBE, CARBON CANISTER 1
26 GEN380960155 CARD HOOP COMBINATION 2
27 GEN380960170 CARD HOOP COMBINATION 2
28 GEN181920044 CARBON CANISTER ASSY. 1
29 GEN181940099 TUBE, CARBON CANISTER 1
30 GEN272980022 GROUND WIRE 1
31 GEN272980023 GROUND WIRE 1

§ .

MA AXKIMA

69



GENEMAX 7000 IS

INVERTER ASSY

Ser.No P/N Maxima Description Quantity
1 GEN380690017 SCREW FLAT MAT COMBINATION 17
2 GEN661880013 WIND GUIDER, FRONT 1
3 GEN380140024 BOLT, FLANGE, M6x28 2
4 GEN380450444 WASHER, FLAT 2
5 GEN290340061 RUBBER BUFFER 2
6 GEN380823668 BUSHING 2
7 GEN380140011 BOLT, FLANGE, M6x10 2
8 GEN660900110 INVERTER ASSY. 1
9 GEN380140077 BOLT, FLANGE M6x20 2
10 GEN380370048 NUT, FLANGE, M6 2
11 GEN661930012 INVERTER BRACKET 1
12 GEN339170004 STORAGE BATTERY BRACKER 1
13 GEN272320080 RUBBER 1
14 GEN380140103 BOLT, FLANGE M6x25 2
15 GEN271060420 BATTERY 1
16 GEN272040169 HARNESS ASSY.WIRE 1
17 GEN272900042 BATTARY CHARGER 1
18 GEN380900284 HOOP 1
19 GEN661880014 WIND GUIDER, BACK 1
20 GEN380841188 SEAL RING,AIR FILTER 1
21 GEN380140013 BOLT, FLANGE M6x16 3
22 GEN661880015 WIND GUIDER 1
23 GEN380930027 LOCATION CABLE CLIP 2
x
MAXIMA

70 AL N e



GENEMAX 7000 IS

~
&
'

APPEARANCE COVER

Ser.No P/N Maxima Description Quantity
1 GEN661860011 LEFT APPEARANCE COVER PLATE 1
2 GEN661870010 RIGHT APPEARANCE COVER PLATE 1
3 GEN380841191 SEAL RING, SHIELD OUTLET (RIGHT) 1
4 GEN380841190 SEAL RING, SHIELD OUTLET (LEFT) 1
5 GEN303060010 FRAME SHIELD 1
6 GEN380140100 BOLT, FLANGE M6x35 4
7 GEN320400085 PIPE, HANDLE 1
8 GEN380330054 NUT M6 2

7



GENEMAX 7000 IS

72

MAGKIMA




GENEMAX 7000 IS

CONTROL PANEL

Ser.No P/N Maxima Description Quantity
1 GEN380690017 SCREW FLAT MAT COMBINATION 8
2 GEN271852717 CONTROL PANEL ASSY 1
3 GEN284700010 USB/AUX 1
4 GEN271940008 VOLTAGE SELECTOR SWITCH 1
5 GEN271810066 ENGINE SWITCH 1
6 GEN173400004 IDLING SWITCH 1
7 GEN272030008 GROUND BOLT 1
8 GEN381070011 GRID SOCKET (RED) 2
9 GEN381070011 GRID SOCKET (BLACK) 1
10 GEN273330006 GRID SOCKET WATERPROOF GLUE SETS 3
11 GEN271290026 CIRCUIT BREAKER 1
12 GEN271290025 CIRCUIT BREAKER 2
13 GEN271290044 CIRCUIT BREAKER 1
14 GEN271290205 CIRCUIT BREAKER 2
15 GEN271890024 POWER SOCKET COMBINATION 1
16 GEN271890005 POWER SOCKET COMBINATION 2
17 GEN271890007 POWER SOCKET COMBINATION 1
18 GEN271890097 POWER SOCKET COMBINATION 1
19 GEN273140013 DIGITAL DISPLAY METER 1
20 GEN271810059 CONTROL SWITCH, START 1
21 GEN380370047 NUT,FLANGE, M4 4
22 GEN380100055 BOLT 2
23 GEN271970038 PANEL SEAT 1
24 GEN272490024 FUSE BOX ASSEMBLY 1
25 GEN271240004 LINE CONNECTION 1
26 GEN380330054 NUT M6 2
27 GEN380420041 NUT 1
28 GEN381810002 SCREWS 1
29 GEN662460003 STORAGE BATTERY MAINTENANCE COVER 1
30 GEN380930027 LOCATION CABLE CLIP 2
31 GEN271280203 CONNECTING WIRE 1
32 GEN661050009 POWER OUTPUT LINE COMBINATION 1

73



74

GENEMAX 7000 IS

MAGKIMA



GENEMAX 7000 IS

c € EC DECLARATION OF CONFORMITY

For the following machinery:
Product name: GENEMAX 7000 IS
Commercial name: GENEMAX 7000 IS
Function: Low-power generating set
Type: Gasoline
Model number: GENEMAX7000IS
Serial number: --

is herewith confirmed to fulfill all the relevant provisions of

- Machinery Directive (2006/42/EC)

and the following harmonized standard have been complied with:
- ENISO 8528-13:2016

is herewith confirmed to fulfill all the relevant provisions of

- Electromagnetic Compatibility Directive (2014/30/EU)

and the following harmonized standard have been complied with:
- EN61000-6-1:2007; EN 55012:2007+A1

is herewith confirmed to fulfill all the relevant provisions of

- Noise Emission Directive by equipment for use outdoors (2000/14/EC + 2005/88/EC)

g

MODEL Measured sound power level dB(A) Guaranteed sound power level dB(A)
GENEMAX30001S, GENEMAX35001S 87 88
GENEMAX7000IS 90 92
GENEMAX350010 95 96

Responsible for marking this declaration is the
Manufacture’s Name : MAXIMA S.p.A.

Manufacturer's Address Via G. Matteotti, 6 - 42028 Poviglio RE - Italy

Person responsible for compiling the technical files established within the EU
Name, Surname : MAXIMA S.p.A.
Address : Via G. Matteotti, 6 - 42028 Poviglio RE - ltaly

Person responsible for making this declaration

Name, Surname - Mirco Dall'Olio
Position/Title . Presidente e AD
Place . Poviglio

Date : 2022-05-18

(signature)

75




e

MAKIMA

ONLY FOR REAL PROFESSIONALS

Maxima SpA - Via Matteotti, 6 - 42028 Poviglio (Re) ITALIA
tel 0039 0522 968011 - fax 0039 0522 967536
info@maxima-dia.com - www.maxima-dia.com



